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31- The Eastern Ghats and the Western Ghats meet at the 

 A.Cardamom hill 

 B.Annamalai hill 

 C.Nilgiri hill 

 D.Palani hill 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (Nilgiri hill) 

32- The Southern most point of India lies in 

 A.Kerala 

 B.Kanyakumari 

 C.Lakshadweep 

 D.Nicobar islands 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  D (Nicobar islands) 

33- The distance between the northern most point in Kashmir and Kanyakumari covers 
about 

 A.20° latitude 

 B.25° latitude 

 C.30° latitude 

 D.35° latitude 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (30° latitude ) 

34- How many percentage land area of India is covered by mountain? 

 A.10.7 

 B.12.7 

 C.9.7 

 D.11.7 

 E.None of these 
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View Answer (-) 
Answer & Explanation 
Answer  -  A (10.7) 

35- Driest areas of India which lie in Rajasthan have an average annual rainfall of 

 A.100 cm 

 B.20 cm 

 C.0 cm 

 D.Less than 1 cm 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  D (Less than 1 cm) 

36- The Himalayas are approximately kilometer long 

 A.2000 

 B.2500 

 C.1500 

 D.3000 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  B (2500) 

37- The Himalayas are approximately kilometer broad 

 A.150 to 400 

 B.200 to 400 

 C.150 to 300 

 D.250 to 500 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  A (150 to 400) 

38- The highest peak, Mount Everest is- 

 A.290.28 feet 

 B.285.28 feet 

 C.273.28 feet 
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 D.269.84 feet 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  A (290.28 feet) 

39- The average height of Inner Himalayas is 

 A.8598 

 B.8930 

 C.6700 

 D.7230 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  B (8930) 

40- The mountains which are not a part of the Himalayan chain- 

 A.Aravalli 

 B.Hindukush 

 C.Karakoram 

 D.Kunlun 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  A (Aravalli 
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